Eiu.o.—ﬁons in one vor\a\o_lg_

Circle Those e_Zua‘tior\S
Fhot have ne solution

N =3

29 Ioae(x-+)=5
3) {221 = -3
4) e 20

5) (22-5)"=0

6.) loge (2x-1)=-7
7) e =-5

8) (2x+d) =-¢

Find the imF]ie,o\ domains
of the ezuaﬁons

q) 612—3:4 =
10) (3x*-22) =3

1) 1036(1-7) = =10

)2.) 103,_(;-—%)-{- Iojz(aus):/

o)t w\?\A)/

13.) e exﬂ

14.) \0‘39, (2+2)+ lee(l-“f‘)
5) (&7

(é‘\> 1032(1’3 - \03¢(x-l)

Write the next step in
50\\/313 each ezuaﬁon

-7
12.) esx =2

l%) )°3e (Zi-’—(-) =3
19) 2x-7) =25

20") locy(xm : 1032(3)



Ang leS

Whots the on17 Posi‘('ide- num ber }/ou'“ use ToO
wrnite +the coordinates o-r— +he unla‘aeueo( P0§r\+s be|ow?

0.1)

¢1,0) (1,0)

Sin (%E):

e (0,-1)

Which  are +he on\/v +wo pasi‘l"we_ numbers
you'“ use o labe\ -H,.e_ coorcl'mafes be_'ow?

Which oS— the +wo IS 3reo:t'e5‘f',?
(010




Polar Coordinates

[.) Whats the norm oF (" Z, 7) ?
2) Whats the norm o} (3 1) @
3) Weite (-2, 7) 12 Po\at coordinates .

“l'> \,./f'\‘\'e. (3,—l> In Po\af coordinates.

5> Rotate 3 ( cos (*) , 5 ("l’>> COu\r\‘l‘erc\oc\iwise
b}/ an 0“3\2 og' 7

é> Rotote Z(c:os(lo‘),s'\n(lo» clockwise \"}’ an anj\eag é

qOS

7) Do R () and
2

R ; n th
-'T}Z(S> o e

axes to the r'\a\d'.



8> Write R_qr/ as & matvix,
3

) Write Rsr

Lt-

as a matnix.

lO) Rotate (5,7) clockwise l:}/ an av\S\e, oF Y% .

“) Rotate (3,”3 Couv\‘t'e(c\oc,\i\gl_:\_s_%, \97/ an om3\e. ov 5‘1}‘1_

Trian \_g,_s_,__
l-) State the Law 09 Sines

b a
o B

2) State the Law of Cosines

a
9

C b




